SM3E6A

REE IR/ EDR



2 F i

MR TR/

TN 2 FF I

SEERE S T

—4=
U T

Ju

E Sl

A
=y

G\
[N

A
=y

b/

5

A ONT UV PR E D AR

(L)W NI L TE

22U T

E(R)IZHWT



BN 2 RS FI N OR B E O KGRI DUV T

T2 R E

=
=
bl

(E =)

B Sf246 H
HwmORE1Y PAROTHEEREERS TN llﬂﬁiﬁ%%ﬁ@ﬁk IZDWT
25 A2 FEEFEEEEGEIT NN L TREGEICHOWT

e e
%1kl A SH2H4H1 48 (k)
% pr EFm
i E (1) B 2 S TFHEICHOWNT
@) =EBiEMHbFE¥E (IBEaEFEFESE) 12501 T
)V ITEA~DIE ARV 2 — LI DONT

wa2m F A SH2E10H29H (k)
% Fr HERE LasET WHE=E
W (DBM2EE SEDSEWIHNT
(2) =BIEMHbEE (IHESHLEFEX)
(3) F =Bz DV T

%3l F A SfM3E2H12H (4)
% Fr HERE LasET WHE=E
i E (1) B 5 OIRBLUIZ DN T
(2) =0~ b O HRIR R DN T

. RBEEMEEE (B3R HEZE)

A Sfe2aE12H 780 (H)
N K 7 RN

& DIBKE (TR HLFEFEH)
F A SH3%E2H1 2H (&)
85 O HETNpE LB Z— ZEHBYAR—L
N 7= B OARBUZ DN T



H FR:5f24F5H
mOE 1) SR2EETSKRESIIONT

2) ZDfh

@H HF:Hf2F11HA27H (&) 12:00~13:10
%57 - RVERE LEEAT HE=S
O 1) SFERUOSREEOFEEEEHIZONT

2) HEmihaizonT

3) Fofth

@ (Fim=ik)
A K534 2 H
woE 1) 2EmARHIIONT
2) HEZEHIZOWNWT
3) EEEIZONT

\



T2 FENREEBENNIRESE
(g & MmM2HFE 4 H1 H ~ =& 45 ™ 3443 H 31 H)
LA DB N
B H Bty R FLAgt I3 ik R
= 48, 000 3,000 ~45, 000| % BB AR 3, 000 (@500 X 644)
1 Bh 4 298, 680 95, 603 —203, 077 | @ Lo mPiE B 95,603 (k& 203, 077H)
HEIA 0 0 0
Rk 257, 708 257, 708 0| 14F FEfip ik 4
ol 604, 388 356, 311 -248, 077
S DS
B H TR R FRARE IR i} P
SR 42, 300 8, 786 -33, b4 ESE
HEH 10, 000 7,317 -2, 683 Y4 FES 2,145
HEE 5,172
¥ 450, 000 82, 500 -367,500( 1 e RZBBIE 0
2 BLEAHE 0
BEN=V/E: 82, 500
4 GEE S 0
Tt 102, 088 0 -102, 088
R 0 257, 708 257, T08| 45 FiISAE FE ~fdulk
ol 604, 388 356, 311 -248, 077




<G

SR

rnh

ajo

>

AR 3 A F R (G NI FRE(FDITHONT

OSFn S FEFHH ()
St A HEL M 7 T
Yoo 4L = %B/\’(%\/\a\—/)b\wc A==
5 H ERNEI=ES ;ﬁ% f c B =
6 H HERE HEEHE () K TE ) EH SR
8 A wEa | RE A e
DﬁﬁQ/\i&ﬂ:
Vivar PA l:'/_‘\ ;k
11H fREHE KB KIE
FERE
Jope 2L A g
SH | PAEERE g gatmic v e
pns | SPP=E e st o pR 6 T BT
N 1}%@$¥ — = AP = (=] payit




oM 3 F E /N EE SN X TR
(g M3 ®HFE 4 A 1 ~ & & 44 3 H 31 H)
YA DER AL : M
BLH A TR | BAEE TR | RO 1 P
BZEREREMNR @500/ X 15A X 2[a=15, 000
s 60, 000 48, 000 12, 000| 2% @3, 000Fq X 15 A =45, 000
i B & 290, 700 298, 680 ~7,980 (B TR E e @145, 35019 X 2[A] =290, 7001
HEIA 0 0 0
e 257,708 257,708 024E L
ait 608, 408 604, 388 4, 020
S DS
BLH AR TR | AR TR | R 1 P
SinE 40, 000 42, 300 -2, 300| X B =%
T 10, 000 10, 000 0| 1 VHEES 2 5, 0001
2 mE% 5,000
HEH 490, 000 450, 000 40, 000| 1 tREZWHEE 350, 000
2 i 2 50, 0004
3P REER 90, 0001 (&I A ¥ v % —Dit)
Sidlibd 68, 408 102, 088 -33, 680
a8 608, 408 604, 388 4, 020




